Codebook Name: Estimation data for Coho random utility model

This codebook defines data used in the Estimation.xlsx dataset.

ID: unique code for survey respondent

Question: choice card survey question (#12, #13, or #14)

Choice Card attributes: (Table 1 in paper gives code for attribute levels)

ESA_A: ESA level for choice A 

ESA_B: ESA level for choice B

Pop_A: number of returning fish in 50 years for choice A

Pop_B: number of returning fish in 50 years for choice B

Dynamics_A: speed of increase in number of returning fish for choice A

Dynamics_B: speed of increase in number of returning fish for choice B

Fishing_A: fishing regulations for choice A

Fishing_B: fishing regulations for choice B

Cost_A: annual cost of program for choice A
 
Cost_B: annual cost of program for choice B

Response: respondent choice (1=status quo, 2=choice A, 3=choice B)

Fish_VImportant: =1 if respondent thinks it is very important to allow fishing every year, =0 otherwise

Fish_SImportant: =1 if respondent thinks it is somewhat important to allow fishing every year, =0 otherwise

EConfident: =1 if respondent was extremely confident about their choice card responses, =0 otherwise

VConfident: =1 if respondent was very confident about their choice card responses, =0 otherwise

SConfident: =1 if respondent was somewhat confident about their choice card responses, =0 otherwise

Everfished: =1 if respondent has ever made a recreational fishing trip targeting any species of Pacific salmon or steelhead, =0 otherwise

RespondentID: a unique identifier for each respondent, from 1 to 926 consecutively. Used for Matlab code to account for panel structure of data.

Weight: a weight to account for stratified random sampling where Oregon residents are oversampled.

StateAbbr: state abbreviation of survey respondent (OR, WA, ID, or CA)

Income: household income of survey respondent ($)

Age: age of survey respondent (years)

4yrCollege: =1 if respondent has a 4-year college degree; =0 otherwise

Male: =1 if respondent identifies as male; =0 otherwise

[bookmark: _GoBack]White: =1 if respondent identifies as white; =0 otherwise

pdiff: difference between respondent's estimated probability of responding to the survey and the mean probability










